Python Csr&EZ St TAHLD

(calculation) P
xDEZ ANHL T
yD{EZ AHL T
xD & - 34

yD fE : 30
34 + 30 = 64
(calculation) PS C:\Users\/Nf& #\python\python2>
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D PythonTetEZUTAH LD

COR—ITIEPythonZFE>TEETE CZDOHENERZ
RNCEDLDIICTDL

(calculation) PS C:\Users\/N#a #H \python\python2> python calculation.py
34 + 30= 64

(calculation) PS C:\Users\/N#8 #H \python\python2>
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D PythonTetEZUTAH LD

=T FY—ZFILZERW T python DDA IS —%Zi 5T & A F
TVYOOYTHED

YU FEBROMNSEMNST=SPython THE I L TH & 5 (koni-prog-
online.com)D@% BN X0 > THA L D

Qu

(base) PS C:\Users\/Nf8 #f> ed python
(base) PS C:\Users\/NF8 #\python>

INBTRT S IV TFTA VR


https://www.koni-prog-online.com/textpage/webpage/web/level5/python1/python1.pdf
https://www.koni-prog-online.com/textpage/webpage/web/level5/python1/python1.pdf
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v ael=1=

= N -

TR —IFIL ETE>THALED
DZFNIFITH WL WIT ETF X FTlE [python2]

E i py
(base) PS C:\Users\/\Fd ﬂl\python>

F4 L7 FY : C:\Users\’/NE ] \python

LastWriteTime Length Name

(base) PS C:\Users\/N#& #\python> ed python2
(base) PS C:\Users\/N#& #\python\python2>

129 5 &



Abe S
/5-\/(

ERICTEZHTOEED L S IC [python2] 2 8d L5245 &

: i Py
(base) PS C:\Users\/\a ﬂ]\python> mkdir python2

T4 L2 FY: C:\Users\/N& #\python

LastWriteTime Length Name

2024/06/14 18:35

(base) PS C:\Users\/#& #\python> cd python2
(base) PS C:\Users\/N#& #\python\python2> |
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D PythonTetEZUTAH LD

(RBRIRZ(FSS
SEDOFED R calculation LT3 &K

(base) PS C:\Users\/A\# #\python\python2> conda create calculation python=3.8
Collecting package metadata (current_repodata.json): / DERIIC:urllib2 connactionnonl:Stariing neu
com:443
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3

:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.util.retry:Incremented Retry for (url='/pkgs/main/win-64/current_repodata.json'):
e, redirect=None, status=None)
DEBUG:urllib3.util.retry:Incremented Retry for (url='/pkgs/r/win-6u4/current_repodata.json'): Ret
redirect=None, status=None
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D PythonTetEZUTAH LD

(RBRIRZ(FSS
SEDOFED R calculation LT3 &K

(base) PS C:\Users\/A\# #\python\python2> conda create calculation python=3.8
Collecting package metadata (current_repodata.json): / DERIIC:urllib2 connactionnonl:Stariing neu
com:443
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3

:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.connectionpool:Starting new HTTPS connection (1): repo.anaconda.com:4u3
:urllib3.util.retry:Incremented Retry for (url='/pkgs/main/win-64/current_repodata.json'):
e, redirect=None, status=None)
DEBUG:urllib3.util.retry:Incremented Retry for (url='/pkgs/r/win-6u4/current_repodata.json'): Ret
redirect=None, status=None
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(base) PS C:\Users\/NA #\python\python2> conda activate calculation
(calculation) PS C:\Users\/N#& ¥ \python\pythonZ>
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PythonDJ 71 IVZE{EAD

v PYTHONZ2

calculation.py

(m A AN A R 2.
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@D Python TEtEZULTHELED

173—F&EID

calculation.py
1 print("34 + 306=", 34+30)

A7 ZIvTF o408

14



INEE T
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[34 + 30 =&k T 34+300EtEH#KEA FRn

calculation.py
1 print("34 + 30=", 34+30)

R N7 R (2
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D PythonTetEZUTAH LD

RIFLIZEEITLUTHSLD

(calculation) PS C:\Users\/N#a #H \python\python2> python calculation.py
34 + 30= 64

(calculation) PS C:\Users\/N#8 #H \python\python2>
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COR—ITHEHZFEOTCETHEITDENTETDL

(calculation) PS C:\Users\/N#& #\python\python2> python calculation.py

xM fg = 34

yD E : 30

34 + 30 = 64

(calculation) PS C:\Users\/N#& # \python\python2>
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#)int HP = 100;

H—LEBEFICENERE>RHDER(int HP) Z/E>THRADEZ(100)
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ZEIZIILLTFOLOREDNH DK
iNT:EBHZIKINT DDA LRIVIRE ]
float:/ VI Z &N T D) BEFZRTR & |
string(str) : XF3 =8N d S

bool: E{AEINELLVESture. BhEL VR STalse]
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XIC34.yIC30ZRNATDLDICUTHLD
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[34(x)+30(y)=64(x+y) I DL ILWETERNZL /I TE
FOIZLED
DERTERDEVND DN DL DICprintXE3D&EZ D]

X = 34
y = 30

print("xC ",X%)
print("y ' , V)

pl‘""int(}( .,"+”JFJ n 1
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=TI TERITLUTH T
HRD

W SIFESRMN D 3

E<VWSHMEREL T

(calculation) PS C:\Users\/N#& #\python\python2> python calculation.py

xD & - 34
yD E : 30
34 + 30 = 6U

(calculation) PS C:\Users\/N#& # \python\python2>
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ANEZB B TCAAALTHELD

COR=ITEEHDEZBEADTAALTRHOND L DI
CTTDK

(calculation) P
xDEZ ABDL T
yO EZ AAL T
x? fE - 34
yD g : 30
34 + 30 = 64
(calculation) PS C:\Users\/N78 #\python\python2>

Users\/N#8 #]\python\python2> python calculation.py
: 4
0

S C:\
&
{ &

Ly -3
L -3
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(I, YICINt(BE) Z DT THELD

X = 1int(34)
y = int(30)

print("xDE : |",x)
print("yDME:|",y)

prﬁint(x .I"+"..'IFJ ”=”.I x+y)

(m A AN A R 2.
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calculation.py > ...

~T" jt

int (input (" xd

~T" j

int(input( "y

N A AN D R L
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=TI TRITUTHEHFEBD CANTETDLIICLTH
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(calculation) P
xDEZ ABDL T
yO EZ AAL T
x? fE - 34
yD g : 30
34 + 30 = 64
(calculation) PS C:\Users\/N78 #\python\python2>

Users\/N#8 #]\python\python2> python calculation.py
: 4
0

S C:\
&
{ &

Ly -3
L -3
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